2025 I TARAYFS o F Vv I<RTFFT VBT >

HF=H 2025/8/23

[38mULEEF 7 ILR] [35mMULEBEFLTILR]
Rank | K 4% Fr B A MEEHK Rank| K % i B A v M EEHK
11 B B ANA e 363 1
2|4a # #H A|TOY'S Tennis Lab 254 1
3+ M1 H B|A brvE 177 1

(40U LEBF> T ILR] (40U EBF XTI X]
Rank | K 4% B A MEEHK Rank| K #% i B A v M EEH
1l # € A|TOY'S Tennis Lab 363 1
208 B H A|lLET=Z077 254 1
I B BRLET=RsF7 177 1
A B & Z|REETT=2HBs 15 1
Al O 8 Z|REETT =2 ipe 15 1

[45mUEBEF> >~ 7L R] (45U LEBF LT ILR]

Rank K % B A v M EEK Rank K % B A v b HEHK
18 O [l|zvaraqvar=zss7 1062 5 117 B o B|A Mo vE 667 2
2| JII B {E|TOY'S Tennis Lab 249 3 2N R & B|fEETC 565 2
3%k = B A|ovvur=zss 227 2 32 b B B|F—LT TR 290 2
AtEa R B Z|7v975=22257 24 2 4B H FF|rrarFmaraTi- 246 1
5|8 B M Z[rror-vr=assy 15 1 Al B & 21 brvE 246 1

6|MW JIl 3 Blrvwrr=zs357 202 1

<zE>(2 L B B|F-—ILITUFR 2050 3 6liE4 AR BEZ|7v975=2257 202 1

8l 2 B levarocrnrzzssy 15 1

[50mULEBF 7 ILR] [50mAULEBFLTILR]

Rank| K #£ i B A v MEEEK Rank| K % B A v M EEH
118 I 8 X|WE7=2s77 1947 5 1|E JIl # #3|TOY'S Tennis Lab 1545 5
2|F Il & |TOY'S Tennis Lab 1536 5 2|&F HE  f&|ToY's Tennis Lab 843 3
I+ & =|RMDTA 753 3 3 X B BLET=RsT T 599 2
AlF H  fTov's Temis Lab 402 2 3|18 g BE K|WET=Rs57 599 2
5|+ 48  f#ToY's Tennis Lab 219 2 S5 #F 18 =[&MTA 414 3
6[F B K BIEEET=ZHe 192 2 5[ B K BI®REET=ZHe 414 3
7NF H =|xtsmmr=-zips 184 3 e BB B Elreor-vrzzsso 413 1
81T F—|aFarr=2s57 183 1 7 & Blroos-vr=zsso 413 1
oIl |/ K HE[EBT=RITT 173 2 9|+ 48 #lTov's Tennis Lab 325 2
9|F B # =|TE AMO0/40 173 2 10|& B = R|AmERT=2Hs 220 2

11| 4 R F 8| T -one 155 1 10|+ MW mlzassEsr=zps 220 2
RIEA/IN ERpurrr7=2257 145 1 12|48 & s2[tov's Tennis Lab 143 1
13/ B B 7997722457 100 1 13|’% 8 % 18| T E AM0/40 18 1
14|F E IE M|EPT=RIF7 57 4
15(% B R M|AMEDT=2H= 15 1
16|14 B #% SB[TOY'S Tennis Lab 1
16|88 & it 571> rkrr=2s57 1




[55mULBF> > 7 L] [55mULBFXTILR]

Rank K % Fr B A MEEH Rank K % i B A v M EEHK
1|+ B R F|zvrreor=zss7 917 4 14 B # =8| T E AMO0/40 1211 5
2|8 M B S| woraoar=z097 886 3 2/K 2 & B|A brvE 646 3
3IxBEE ER|HLETC 413 1 3|&E X |7 Av—s—FRTC 639 4
Alpn &£ £ AWABHT=RBR 324 3 4i7 & I|FSA 609 2
S| B % =T E AMO0/40 281 1 5(i0 £ 2 AETT=2HBR 540 3
6|F B # Elevrrorrrzzzssy 196 1 6|T B Ih JFE|zvrracrar=2s57 338 2
70 B B A|TEAMO0/40 151 2 INe ' & wyr—7o1LT 254 1
8|/ F E —|RMTA 18 1 TN B & EY—ILT 254 1
9|t # K &[T -one 15 1 9[R H & —|ABTT=Z= 202 1
i 1R F L|EHT =277 15 1 10(/0 B & A[T E AMO0/40 18 1
11|F & FElzvrrosvar=zss7 9 1 11|7F & 5k |57y bERTyY 15 1

11|18 & Z|&RMTA 15 1
11|= F B #E|rtrvs-v7=x257 15 1
14| BB M F B[=vrrnivir=zs57 6 1

[60AUEBEFY 7 ILR] (60U EBEFX7ILK]

Rank| K % Fr B A MEEHK Rank| K #% B A v b HEHK
1T R & E|rvrrarir=zss7 812 3 1|88 K — Z|&RMTA 1383 4
2|18 K — Z|ERMTA 702 2 2|78 Ik B E|zvaraivir=zssz 1082 4
3IF L B T|ARH T =2 BR 426 2 3|FEiE #h—|7vvrr=2s57 1074 3
4 £ IF =E|rrrvr-vr=zs57 357 2 3|[F @ A|7o97F=2057 1074 3
586 K & Rlmuvrrr=2s57 211 2 585 K Hlsxgnrrr=2s57 241 2
6|FF My T FE|7vvvr=zs57 57 5 6| L B 1T|ABET =R 192 2
6lA B & Z|7vvrr=xs57 42 4 el fiff|tetetete 143 1
8lmiE #—|7vvor=2s57 18 1 8|l& B & |7vvrr=zs357 6 1
9|t B 1B Zlevrrarrrs=zss7 15 1

(65U EBF> > L] (65U EBEFRTILR]

Rank K % B A MEEEK Rank K % B A v M EEH
1Mk 4 K #8—|-w574-r57=2257 7298 5 1|T & & Blesenrsr=2s57 18 2
21N B F Bz Err=2s57 310 6 e B #H|YP—oLT 15 1
31 b B |77 rrr=as57 18 1 I B Y=o LT 15 1

<s#E> £ 4 K B—|-w573-n7=2s57 48 1

[TOmULBF> >~ 7L R]) (70U LEEFLTNZR]

Rank K % Fr 1B RA > bEEE Rank K % Fr B RA v MEEHK
A\ 1B @ Elz71v k7722257 3061 6 1|18 2 J ®%MARS-T 36 1
21 ¥ RI|EBT=RII7 742 5 218 R —|mwsEGT=xpR 18 1
3B E N EHE[MARS-T 498 4 218 B Els7avrrrzzss7 18 1




[T UEBEFY 7L R]

[T EEBF X7 ILR]

Rank K % i B A v b EEK Rank K % i R v b EHEK
1{F& Il Z|zvsrasvaz=zs57 319 3 1| KKk BEAZETT = 2B 192 2
2l b Rl|fEEBSY - 18 1

(80U LB F > 7 ILR] [80mULEBF&TILR]

Rank K % i B A v b EEK Rank K % i A v MEEK
11T % Z BlLET=2s77 1924 2




2025 I TARAV IV F VI <RT I UF>
FERH 2025/8/23

(45m Ll L F o > 7L R] (45U L& F XTI R]
Rank K & Fr B A v bEES Rank K % Fr & A v b EES
1{#8 & B3 F|ToY'S Tennis Lab 363 1
1142 & = ®|fEEs)—> 363 1

(50mUELZF> > 7 ILR] (50mMUELZFXTILR]
Rank K & B A v MEEH Rank K % Fr B A v MEAEHK
1IN R B BWWET=2077 18 1 1|% 4 BB ZE|TOY'S Tennis Lab 774 3
<s%> i | BB Z2([TOY'S Tennis Lab 438 1 203 # & FlHLETC 363 1
21 B & F|L.E.T 363 1
21K B R EFALTUE 363 1
5|18 Il F B|7v475=2057 269 2
6| )l B E|MARS-T 254 1
T ARE R F|7ov77=2057 15 1

(5o L& F v 7L R] [55mU EZF X T ILR]
Rank K % Fr & A v EEH Rank K % Fr & A v M EEH
1I/INA ZE &£ F[ToY'S Tennis Lab 574 6
2|88 H = FlszErr-zs57 555 3
0B O &I(571v k7722257 555 3
41E X E #C|FSA 446 3
AlBE B = &[FSA 446 3
6| B #fi F|TOY'S Tennis Lab 438 4
T[T#8)11 AN [FSA 354 2
8| B E|rrarrmzrars— 269 2
9|2 b v A H|L.E.T 254 1
10L B = Flr ryrr=zs37 205 1
11[FH AEF|7v977=22257 30 2
12|/ 1 E[&AIFTC 6 1
13|/ % £ JI|MTC 6 1
<3E2> | ERF|571 7722557 36 1




(60U EZF2 > 7L R] (60U EZFXTILR]

Rank K & Fr & RA > M EAEE Rank K % Fr & RA v MEAEE
1B & = FIMARS-T 384 2 1R = # F|dLETC 980 3

1By EEF|A—NLT TV K 980 3
3B A = FIMARS-T 538 5
ME B = FlLuET=2777 363 1
57 BB & #i|l5rrrvar=xs57 297 2
6l & B Flrvirr=zos7 205 1
718 ] B FIMTC 109 2
8| BB BB Flz71vrrrz==zs357 36 1
9|F & BB F|7v¥757=2437 15 1
|/ d Bh F|TEET YU —> 15 1
11|1& NIl & F|EAIFTC 6 1

(65U L& F> v/ LR] (65U L& FX T ILR]

Rank K % Fr B A v MEEH Rank K % Fr & A v bEEH
1M B B X771 (7722257 9 1 1R B B ST|AmERT = 2He 220 1

1E B Bl E|AMEDT = 2Ha 220 1
3|tk 4 REER[FSA 15 1

(70 EL&F v 7L R] (70U L F X 7L R]

Rank K % Fr B A v MEEH Rank K % Fr & A v bEEH
1B A 2D F|574v k7522057 2799 4 HARE S A F|7712F77=22057 1879 3
2|\18 S I F 574> k7722057 2519 4 21K B D F|574v k7722057 486 2
3I)IKk M = F|AbTVE 1698 4 3K MM R F|MA b TrvE 328 1
A&k = M FLET=RIZ7 492 4

(75U ELF v 7L R] (75U L F X7 ILR]

Rank K % Fr B RA v MEEK Rank K % Fr B A v bEEH
1% B = F|z71>r757=2057 84 2




